Funwith MATH 5B IFabk

N—y & 7T it 1E
2%?5&% f:i %}75 @ Problems using area of
6 |1017TH ~ from base BC to vertex A ~ from vertex A to base BC
12 | LOTFORHL My idea was to use two and make a parallelogram. My idea was to use two same trapezoids and make
a parallelogram.
15 | 10~1147H When the he.ight of triangle doubles or triples, the area | When the height of .tIiangle doubles, triples, and so on
doubles or triples as well. the area doubles, triples, and so on.
How does the area change when the base is doubled or | How does the area change when the base is doubled,
5 (@ ® ) )
tripled? tripled, and so on?
22 | @ You took 4 tomatoes from a box and weighed them. You took 4 tomatoes from a box and weighed each of them.
Figure out various distances by first finding the length | Find the length of your own stride and figure out various
% @ of your own stride. distances.
You measure 6 dictionaries and find that they weigh You measure the weight of 6 dictionaries and find that
28 | w2 :
10.8 kg. they weigh 10.8 kg.
32 éii; ;; /b The fewer tatami mats per child, the more ~ person
34 &M Compare the number of residents per km?2. people
35 | %2 F West elementary West Elementary
37 ® Round off down (2D
37 | AR 297 rounding off down
37 |©® 217H Round up and round offto ~ down
38 |[/hRHIL Working in order starting with small quantities numbers
41 | ADVORHL ~ the highest number of students interested. interested students
41 | DIFSDHEE ~ have 20 more students interested than ~ interested students
41 | HBV XS ~ are than glots available ... available slots
42 |© 517H In the weaving workshop? How about in
The track club has 15 available slots. The track and field club has 15 available slots.
44 The number of interested students is 0.8 times the The number of interested students is 0.8 times the
number of slots. number of available slots.
An item that was 1400 yen last year now costs 1.05 An item was 1400 yen last year. In this year, the item
“4 @ times last year’s price. costs 1.05 times last year’s price.
15112 Sg 1 8 ®3 g?ﬂ] Round to the ;?0 column. Round to the ﬁs lace.
60 |¥2 8~917H Round the answer to the % column. Round the answer to the is_pla;ce.
60 | %5 Ice cream is about 60% water. About 60% of'ice cream is water.
67 |717H The distance around a circle ~ len;
67 ® Discover how the circumference is ~ that
69 | ML Find the answer to the —— column. Find the answer to the —s place.
7 |10~11758 As the diameter of a cimlg doubles and triples, the As the diameter of a cimlg doubles, triples, and so on the
circumference doubles and triples too. circumference doubles, triples, and so on too.
76 | 101TH Vertical sides like figure AB on the right ~ TR HIBR
83 | LDOTF- O L As O doubles and triples, /A doubles and triples too. ﬁ d<s)o 2212268"&11)188’ andsoon A doubles, triples,
83 | Fo~147H Since Fhe area dopbles and triples as the width doubles | Since the area doubles, triples .and S0 on as the width
and triples, the width ~ doubles, triples, and so on the width ~
84 You buy 1 100-yen apple and put it in a 50-yen basket. You buy some 100-yen apples and put them in a 50-yen basket.
85 | LTkl ~ bec'ause asthe numbe'r of steps doubles and triples, | ~ because z'is the number f)f steps doubles, triples, and
the height doubles and triples too. 50 on the height doubles, triples, and so on too.
85 | moromiL ~ because as the. number of marbles the older sister | ~ because as the number of marbles the older sister
has doubles and triples, the number of ~ has doubles, triples, and so on the number of ~
90 | %3 What numbers belong at ® and ®? correspond to
90 | %6 Which of the following have an answer that is greater than 240? | larger
99 | 417H Ifyou press the | 150% | key, ~ button
9 |© 21TH ~ more than three times larger of the original length? | longer
101 | MRHAL It’s larger by the perimeter of ~ longer
104 | T247H Use rounding up or rounding off to estimate ~ down
112 | %20 2~31TH |It was originally discounted to 80% off the regular | It was originally discounted to 80% of the regular price,
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price, but then discounted by another 25%.

but then there is an additional 25% off.

112 | %23 347H Round to the — column. Round to the s place.
115 | 101TH 8X ((5-+3))+2—8x3+2=20 TR AR

115 | £ 1317H (183+16+15+13+17+14+17)+7=15 RREA TR

15 | A 1417H MRS 1 DO 14T b~
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